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It is merely an acquisition of words - N7 Xnbya 29927 1P

OVERVIEW'

The X773 maintains that making a 1Ip to do something (in our case — to divide
property), is not a valid 7°3p. Such a 71p is referred to as a 2727 °1p. It does not
obligate the parties to keep their agreement. A 1°3p is valid only where it entails a
specific commitment of transferring or relinquishing assets (or rights).

mooIN anticipates a difficulty:
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In 2%%yem nx "owwn P (where) the mawn states, ‘an unpaid watchman can

conditionally obligate himself to be like a borrower’. The x 3 there asks; how can
the mere verbal agreement of the n"w obligate him to pay as a ?XW? The X723 there answers that

the mwn -
— 351 1993 1Y Y9I

is discussing a situation where they acquired it from his hand; i.e. the n"w obligated
himself through a 15917 1ip. Seemingly the n"w is making a 1°37 that he is to be considered a
oX1w. That however, is a 11 on mere words. Nothing tangible is seemingly being exchanged or
granted. It should be considered a 0727 7°3p.

nooIN answers; the case of "2 "W many -
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There it is not considered a 23937 1p; rather it is a valid 7p, for he pledges
himself that if there will be an unforeseen accident, then he will pay.

SUMMARY
A n"w is liable for 0°01R like a 2R if he pledges, with a 1°1p, that he is responsible
and will pay for any d1IX.

THINKING IT OVER

! See previous *2 7"7 N10OIN.
2 A oan aw is not obligated to pay for unforeseen accidents to the item he is watching. A 9XW however is liable for
any damage that occurs to the item he borrowed. Someone can deposit an item by a 1", on the condition that the
n"w agree to take the responsibilities of a X% on this item.
3 A pohn 1Ip is performed by exchanging a cloth from the hand of one to the hand of the other; therefore, the
expression 177 11p.
4 The 137 is not merely that he is a 9XW; rather the P17 is that the n"w is obligating himself to pay for the deposited
item should anything happen. That is a T12yw of assets, not a 027 7"Ip.
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1. In NBOIN question, would it seem that the 7°3p by the n"w is the same 0727 7°1p,
as in the X"177 of our X7n), or is it different (either better or worse)?

2. How did m»oon understand the term 17°2 132 (in 1"2) in the question, as opposed
to how he understands it in the answer?’

5 See v MR *"'92.
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